Chemistry – Groby Community College

October Half Term Homework 

1. Calculate the concentration of 

(a)
2.38 g of MgCl2 dissolved in 500 cm3 of water

(2)

(b)
0.45 g of Na2CO3 dissolved in 200 cm3 of water

(2)

(c)
1.74 g of KOH dissolved in 750 cm3 of water

(2)

(d)
3.17 g of CuSO4.5H2O dissolved in 297 cm3 of water

(2)

2.
Calculate the mass of the salt formed in these reactions

(a)
25.0 cm3 of 0.00500 mol dm–3 HCl reacts with excess Ca

Ca(s) + 2HCl (aq) → CaCl2(aq) + H2O(l) 

(3)

(b)
42.70 cm3 of 0.105 mol dm–3 H2SO4 reacts with excess Al

2Al(s) + 3H2SO4 (aq) → Al2(SO4)3 (aq) + 3H2O(l) 

(3)

3.
Calculate the minimum volume of 0.0100 mol dm–3 CuSO4(aq) needed to react with 41.90 cm3 of 0.0218 mol dm–3 NaNO3(aq)

2NaNO3(aq) + CuSO4(aq) → Na2SO4(aq) + Cu(NO3)2(aq)

(4)

4.
Calcium carbonate, CaCO3, reacts with hydrochloric acid as shown in the equation below.

CaCO3(s) + 2HCl (aq) → CaCl2(aq) + H2O(l) + CO2(g)

 (a) 7.50 × 10–3 mol CaCO3 reacts with 0.200 mol dm–3 HCl.

(i) Calculate the volume, in cm3, of 0.200 mol dm–3 HCl required to    react with 7.50 × 10–3 mol CaCO3.

 answer = ................................................. cm3 [2]

(ii) Calculate the volume, in cm3, of CO2 formed at room temperature and pressure.

 answer = ................................................. cm3 [1]

